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ECONOMICS
Paper : ECORC2026/ECOHG2026
( Principle of Macroeconomics )

Full Marks : 80
Pass Marks: 32

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Choose the correct answer (any siy : 1x6=6
% Tewh! iR Bfisar (R e o) :

(@) Which of the following is not the subject
matter of macroeconomics?

I (FICH! AR YAy e 7= ?
(i} National income

B o |

(ii) Aggregate demand
AT i

(iii) Theory of employment
et ©g

(iv) Price determination of a commodity
T GR4T w1 PR
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(2)

(b) GDP is equal to
& I B B
() GNP - NFIA
¥ BT Seom ﬁ'C‘?‘ﬁ
i - [
T b oy a
(ii) GNP + Depreciation
T2 T8 e + sy
(iii) NNP + Depreciation
s w18y Beom + oy

(iv) All of the above
ST SR
(c/ Which of the following is flowp
GO (I 2R 2

(i) National income

T =y

(ii) Investment
Rtz

(iii) Profit
S

(iv) An Of t}le aboVe

oY SBIRIRPy

( Continued )

(3)

(d) Which of the following is a consumption
good?
o (IO Bt TorreIen T ?
(i) Doctor’s services
P o
(ii) Television
el
(iij) Food items
Jm Gy
(iv) All of the above
@9]q

Which of the following is a leakage of
circular flow of income?

SO (FICH! IR B 2RI R ?
‘ (i) Exports
B
(i) Imports
LG

(iii) Investment

Rt

(e)

(iv) Consumption expenditure
Togeta W
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S (P! T _—
() Earned income
IR ury
() Factor income
T g
(i) Unearned income
- g
() None of the above

SR e ey

(@) The
quantity
formulated by theory of money
as

T ARmrS sy
, P B
(i) Irving Figher R 2
SRR Rig

(i) J. B. Say
(iii) Adam Smith
o Ry
(v) J. M. Keynes

@ 9. @y
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{ Contintied )

(h) MPC + MPS =

(5)

o Toen RSl + AP e TS =

U

(i O
(i) 1
(iii) o

- (iv) None of the above
@°[qq o8 W
() Which of the following statements is

true?

oo (I O Ww
@ MPC = C/Y
@i MPC = S/Y
(i) MPC = AC/AY
(i) MPC = AS/AY

() Autonomous investment curve

o RFGI (@R

(i) is parallel to X-axis

(i) is parallel to Y-axis

(i)

(iv) None of the above
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X-S] ANBE

Y-Sr% AN
starts from origin
T R o e W

@9qq H18 T
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2. Answer th i
e following questions (any five)
ve) :
woTS gl |
IR Seg fimn (R corgan °ﬁs§t) e

) What are final goods?
818 737 3 2
" (b) Write th
| the meaning of circular flo
w of

income.

AR 5E 2RI W By |

(C) Write
one s .
dissimilari Slmﬂanty an
and capital goods, T PUOR

d i
S;

RS 537 R 9

(e) Write tw
o
supply. components of egat
IR @R regate
Bt 51 forar |

0 Meﬁﬁo
Classic:l thany two assumpt;
eory of employmep:lons of
nt.

AR TEhe wak
R e o1 e

(9) What is effective de
ers oife R 2 nd?

3. Answ
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(7))

any siv :

er the following questions (
5x6=30
e f 2IaRE s it (R coren =)
(@) Explain the product method to calculate
GDP in & country.
e U A A apers TIT
ST TAreC! IO T

oblems in the

(p) What are the different pr
estimation of national ijncome in &
country?
o @S B S AT o e Risa
s B9
(c) Explain the concept of GNP as 2
measure of economic welfare.
e e P B 5 @w TR
QEREATCHT T T4
(d) What do you mean by final écpenditme?
Explain briefly.
ot T I ot o 3E? L TR TN
(e) Explain briefly the importance of
national income accounting in @&
country. |
o @awe TEgW S AT g THE I
!
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OeTe fagqr :
ST TS o (R oy ) 10x2=29

(@) Explain
through ; the Computatiog

B SR 2 w1 vty T
I
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(2)

(b)) Write down some of the limitations of
using GDP as an index of welfare of a
country. :
ammw«wmﬂqkw%aﬂm
< IS AR e e,

(c) Critically explain the Say’s law of

. market.

@wwﬁmwmwn

What is aggregate demand? Explain the
components of aggregate demand.

m@@mﬁ?m@?mﬁm%‘)ﬂm
g 90 |

(d)

5. Answer the following questions (any one) : 14

wﬁmmmﬁm(ﬁ@m@):

fine national income. Is national

(@) De
tory measure of

income a satisfac
economic welfare? Explain.

B wwRR e fam |y o IR
T P NG <A ZC 7 I P

lain circular flow of income in a

(b) Exp
two-sector economy including financial
sector. .
A8 1oT TEHRE ! e 13 TS 3T
A S 2R QIRATCH! I
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(c) Critically explain the simple Keynesian
model of income determination in a
closed economy,

(PR W FRAFT A4 Og051 99 wieffed
AFRIS FACAGATZ Q0T < |
* % %
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